
SAP ABAP table RN1PARTNER {IS-H*MED: Employees per Organizational Unit}

RN1PARTNER

MANDT [CLNT (3)]

SPRAS [LANG (1)]

LAND [CHAR (3)]

REGIO [CHAR (3)]

ADRNR [CHAR (10)]

NADR

MANDT [CLNT (3)]

ADRNR [CHAR (10)]

ADROB [CHAR (4)]

 RN1PARTNER-ADRNR = NADR-ADRNR {0,1}

{0,1}

T000

MANDT [CLNT (3)] RN1PARTNER-MANDT = T000-MANDT 
0..N

1 T002

SPRAS [LANG (1)]

 RN1PARTNER-SPRAS = T002-SPRAS 
0..N1

T005

MANDT [CLNT (3)]

LAND1 [CHAR (3)]

 RN1PARTNER-LAND = T005-LAND1 

0..N

1

T005S

MANDT [CLNT (3)]

LAND1 [CHAR (3)]

BLAND [CHAR (3)]

 RN1PARTNER-REGIO = T005S-BLAND 

0..N

{0,1}


